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Recognise Cause and Effect — Questions

\

Name Date

Stuck at the Airport

1. There was a crazy storm, so
a) they had to eat grandma'’s pea soup.
b) their flight was delayed.
) they had to go home.

2. What caused them to get hungry?

3. They could only buy chocolate, chips and drinks because
a) Dad doesn't like fast food.
b) they didn't have enough money.
) there were too many people at the food court.

4. What caused them to eventually board their flight?

COMPREHENSION
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Addition mental strategies — jump strategy

A:m

" When we add, we can use the jump strategy to help us. Look at 57 + 22:
1 First we jump up by the tens.
2 Then we jump up by the units.

+10 +10 +2
—— i VA A T
57 67 77 || 79
57 + 22 =179

Practise jumping in tens along the arrows:

2 P
5 P
Py Y

(1 Use the jump strategy to add these:

+10 +10 +10 +10 +10 +2

- YATA"
4 78 4 57 = . T N N .
78 88
b 115 + 44 = > >
¢ 185 + 63 = < >
Addition and Subtraction 7
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4. The red team played five games of football.
They lost the first game 1-3. They won the second
and third games 2-1 and 4-0 respectively. The

fourth game was a 2-2 draw. If they scored 12
goals and conceded 7 over the five games
what was the score of the last game?

Mohammad has forgotten his password! He knows the
first number and had written down sums to calculate the
other three numbers. The third number equals the second
number plus the first. The fourth number equals the third
number minus 2. The second number equals the first

number plus 4. If the first numberis 2, =
what is the password?

6.In a game of darts, my opponent had scored
321 points. | was 126 points behind

my opponent and then scored the
following points: 60, 6, 5, 3, 18, 5,
14, 22. Am | winning or losing?




